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H & 0l & AHS B Ml A

AZ: HEZAIR SN SRECD
H: NYCHESEIM( WSLER/EZ)
ol X (ehol:®el)
AR .24 ZE . G230 - NIRAY - BES ol ke G o HlmS2
C2ET 280,309,705 236,674,210 43,635,495
ANSCAHLES IR (NEUER/EZ) 174,387,714 175,887,190 A1,499,476
Nges= 161,465,394 164,637,870 A3,172,476
SR A2 X EOHE 14,062,500 18,923,000 A4,860,500
401 Al&HIZ 20| 14,062,500 18,923,000 A4,860,500
01 AlEHI 13,852,500 18,617,000 A4,764,500
OHAMRAAIXNENSHRSEEY) 13,852,500
02 2eldl 210,000 254,000 A44,000
OSSR S 2 2SS Y) 210,000
EMES-EFH)2RNEHS 955,000 7,743,000 26,788,000
401 A& HIZ20HLI 955,000 7,743,000 6,788,000
01 Al&Hl 955,000 7,533,000 6,578,000
O E2~ZH) 2N HB(RESLY) 955,000
ISPl v ==IN =W =S 21,350,897 20,714,000 636,897
401 Al&HIZ20HY| 2,279,897 714,000 1,565,897
01 AlEHI 1,879,897 564,000 1,315,897
OMAESIIZX NS XSEEY) 1,879,897
02 eyl 400,000 100,000 300,000
OaFRI2X S22 H(NESY) 400,000
403 XX SHMS K201 ™ 19,071,000 20,000,000 A929,000
02 I 2SOCHet A2 & 2 EFAIZ I 19,071,000 20,000,000 A929,000
COaAEGHI 2R SNSES I 2SH e A=
H2IETAS I 19,071,000
SHARAAINNEHE 12,951,000 2,131,000 10,820,000
401 Al&HIZ20HY| 12,951,000 2,131,000 10,820,000
01 AlEHI 12,351,000 1,631,000 10,720,000
OsHa2=2 X EHE (XISEY) 12,351,000
02 eyl 600,000 500,000 100,000
Osita2i=X AL 22 I (NESY) 600,000
HEots(1-2) = A SHE 19,335,760 26,624,000 AT,288,240
401 A& BIZ 201 19,335,760 21,429,000 A2,093,240
01 Al&Hl 18,694,760 20,709,000 A2,014,240
OE s (12)2 RN NS XSEEY) 18,694,760
02 Zeldl 600,000 700,000 100,000
OEEots(12)= X 2B SSY) 600,000
03 Al CHYI 41,000 20,000 21,000
OEEOrS (12) 2 XN SN AE2UEI(RISES
2h) 41,000
E=Forad SN = 6,685,155 3,944,000 2,741,155
401 AIEHIZ20HYI 6,685,155 2,444,000 4,241,155
01 Al&Hl 6,268,155 2,080,000 4,188,155
ODBHEF2A=XNCIHBHRNSESY) 6,268, 155




A3 ALTAR TN ER8E
B (UCANS TR (DEYSR/CR)
ol AYEE EER=E)
4224 - B G9(EH) - AIRAY - BES of v G o HIDE2
02 Zeltl 417,000 360,000 57,000
ODFE=2AI XSS eI(RSEY) 417,000
2w AL 5,051,416 940,000 4,111,416
401 AIEHIX R0 4,588,416 940,000 3,648,416
01 A28l 4,088,416 630,000 3,458,416
OZ2FUHRAL(XNESLY) 4,088,416
02 Zeltl 500,000 300,000 200,000
OZF0nAL2eH(XSS5) 500,000
403 TR M SAH=01H 463,000 463,000
02 SISt =S A AEHI 463,000 463,000
U2 HESI | ASH St A= RS AL
24| 463,000
OtEMEE=NEHE 4,633,429 714,000 3,919,429
401 AIEHIX S0HH 4,633,429 714,000 3,919,429
01 AlZH| 4,433,429 494,000 3,939,429
OEMEHE2XNEHE(NESY) 4,433,429
02 2/l 200,000 200,000 0
OOtEMEE 2N EHELRIHI(AESY) 200,000
A=A 829,567 2,163,000 1,333,433
401 Al HIZL 201 829,567 2,163,000 1,333,433
01 Al&H| 629,567 1,943,000 1,313,433
RCAASXNZMNE(KNSEL) 629,567
02 Zeltl 200,000 200,000 0
O22CAH=2XN SN 2eIH(ASSY) 200,000
SEEUS NN 202,000 350,000 148,000
308 AHAIEHMSOIE 202,000 350,000 148,000
07 HAHH 2L FE 52 202,000 350,000 148,000
OaEa2t=Xs0g 202,000
SYFAA=REHE 2,952,000 786,000 2,166,000
401 Al HIZL S 0HYI 286,000 286,000 0
01 Al&HI 276,000 186,000 90,000
SZLMAINCAE(XEE L) 276,000
03 Al 2 HHI 10,000 10,000 0
O SRAIANCHEALRUHI(XSS
&) 10,000
403 AXIEHHSAH=01d 2,666,000 500,000 2,166,000
02 S7I2S0 U H=E 2 EAIEI 2,666,000 500,000 2,166,000
==X HE8 371 2S0tetA=
HIE A I 2,666,000
2dgA=NEHE 2,329,100 786,000 1,543,100
401 AIEHIKL 20 286,000 286,000 0
01 Al&H| 276,000 186,000 90,000
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D AEEAIR

H: NYCHESEIM( WSLER/EZ)
o S2WEHEINE ALY CEEE)
AR RN BB G(SH) - MRAY - BES 0l Aro A CmE==T
403 XX SHMSAHE01 ™ 500,000 1,980,000 A 1,480,000
01 MXIStH 22 £ 500,000 1,980,000 21,480,000
I RSIMPNEEFS~bN 500,000
UHE0IESAMS (2 2HAHE EAIY) 1,160,000 1,240,000 80,000
403 XX SHHSA=01H 1,160,000 1,240,000 80,000
01 XEXISHI =2 & 1,160,000 1,240,000 A80,000
O el 2329 1,160,000
oINS SIA T ALY (2-1SHHEEHAIY) 1,900,000 350,000 1,550,000
403 REXISHHIS K201 & 1,900,000 350,000 1,550,000
01 AXISHHAEER 1,900,000 350,000 1,550,000
ClotMStE et AT ALY 1,900,000
LOIB SR (-1 H M BHALRY) 680,000 725,000 A45,000
403 XX SHMSKHE01 ™ 680,000 725,000 A45,000
01 AXIEtH 22 £ 680,000 725,000 245,000
OLo8532AINA 680,000
POINSHEIHISER (22 HH EHANY) 237,000 945,000 708,000
403 XX SHHSA=01H 237,000 945,000 708,000
01 REXISHHI A= 2 & 237,000 945,000 A708,000
ORI NSHEEHISHX 237,000
MBXRASE 2R EINLAILSEI | HE+EEA 90,000 0 90,000
207 AR 90,000 90,000
01 A2 EH| 90,000 90,000
ONBXAE 2R RN AIL S E I H &l 4
=) 90,000
C2ANEA(NELER/ER) 48,491,001 10,658,000 37,833,001
SZAE=E| 48,491,001 10,658,000 37,833,001
TRzl 133,000 158,000 A25,000
201 B2 AY| 13,000 158,000 A145,000
01 A=R2teld| 13,000 158,000 A145,000
Opt=2H| 13,000
OEdFQsocEEZS M 8,000
OgRENIASNHEROIS 5,000
308 AXIHMSOIH 120,000 120,000
13 I 2SHICHEHE & X2 EF ALY 120,000 120,000
O=&=RsocEE 120,000
IS EIN K ZHIAIS 5,805,000 5,000,000 805,000
201 Let23H| 5,000 0 5,000
01 At 2elt] 5,000 0 5,000
ORIEEMNEHNZRIS 5,000
401 A& BIZ20HbI 5,800,000 5,000,000 800,000
01 AI&HI 5,000,000 5,000,000 0
OIEZE MK &I 5,000,000




D AMEAIR 2M &

CRAEAC(RELESR/ER)
CRALESEH|

12,000

AT 2A B BR(E) - HRAY - BES 0 &t A blnE2
02 2eldl 800,000 0 800,000
ORI ENXE &2l 800,000
BHEZUMAIEEZ 3,300,000 2,500,000 800,000
401 AIEHIZ 2018 3,300,000 2,500,000 800,000
01 AlEHI 3,000,000 2,500,000 500,000
OHEZHAIEE2Z 3,000,000
02 Zeldl 300,000 0 300,000
OHES A 22 2elt] 300,000
6.27~7. 213 RUlH=2HI(E2) 15,422,013 15,422,013
401 AIEHIZL 28I 15,422,013 15,422,013
01 Al&HI 14,222,013 14,222,013
[12023.6.27~7.27& LI =7 Al & 14,222,013
02 Zeldl 1,200,000 0 1,200,000
[12023.6.27~7 275 L Uldi= 72 2lb| 1,200,000
6.27~7. 7RI =REI (=2 (X)) 21,217,290 21,217,290
403 XIS MS K01 21,217,290 21,217,290
01 XEXIEHI A= 2 2= 21,217,290 21,217,290
[12023.6.27~7.27= < UloH =+ 21,217,290
M6SENZIt=Llai=+ 213,698 0 213,698
403 XX SHHSKH=01A 213,698 213,698
01 XXt A2 = 213,698 213,698
CN6SE S ot=1loH=+ 213,698
KA R E A 2,400,000 0 2,400,000
401 AIEHIZL 2018 2,400,000 2,400,000
01 Al&Hl 2,400,000 2,400,000
XA THOH I EIH S (AP L AF) 2,400,000
YHECEHE(UELER/EAES) 7,858,270 6,708,000 1,150,270
HAECHE 7,858,270 6,708,000 1,150,270
HAEECAME 7,858,270 6,708,000 1,150,270
308 REXISHMSOIH 4,060,270 6,331,000 22,270,730
07 XXIEtH2t R E = 4,060,270 6,331,000 A2,270,730
COHASAMEE1SHGHA AT AL 4,060,270
403 XX SHHSA=01H 3,798,000 377,000 3,421,000
02 I 2SoHEA=2E S AIS I 3,798,000 377,000 3,421,000
O A2AATHURZF(R01~Z L) 3,798,000
HY2IZHI(Z2E S (IIEHDIE 87,720 96,020 28,300
23| 87,720 96,020 28,300
JlE2Zl 87,720 96,020 28,300
201 Let2| 31,200 46,420 215,220
01 ArR22teltl 31,200 46,420 A15,220
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AR AMZAIR
MmN EY

TE(ZELX N/ XNAL Al

Chel: F=HBZENM (Hol: &)
AR SA . O(BH) - HRAY - BAS ofl b dE= HDS2
4= - 2A - 35 = g5 . 0l &t =
OFHEHME RSB A& 4,000
OSAZNE 2R AIZAlA 5,000
308 AXIHHSOIA 15,000 15,000
13 SI2SHUSE A NS AL HI 15,000 15,000
OssFe2e| L= E EH| ot 15,000
StESHEEES 455,700 455,700 0
StEsAHF A2 2] 455,700 455,700 0
201 LEr2AH| 2,000 2,000 0
01 AtR2teld| 2,000 2,000 0
294 2,000
Ost=ag =4 2,000
202 04| 5,700 5,700
01 2| 5,700 5,700
[e=2dE=HRF=R0| 5,700
308 AXIHHMSOIA 48,000 48,000
01 AIXSHHEAMERZS 48,000 48,000
(120248t =S 2322 3| DN & 438,000
403 XIXISHHSAH=0|A 400,000 400,000
01 XX SHHA=2E X 400,000 400,000
OstsHE XA 400,000
MASSF=AHEX ALY 123,378,655 114,659,940 8,718,715
FHIHAIA 121,176,725 112,142,280 9,034,445
308 AHXISHHMSOIH 121,176,725 112,142,280 9,034,445
01 AIXHMEANEEZ 121,176,725 112,142,280 9,034,445
O20D|ZMEZH(FEHSNH) 121,176,725
ZOH QI S=EHH X R AFS 456,950 469,300 A 12,350
403 XXX S K20 A 456,950 469,300 A 12,350
01 XX SHH A2 X 456,950 469,300 A 12,350
ZHOH O Z=EH R XA 456,950
MNERRE XL XNES 20/ XA 1,500,000 2,000,000 500,000
308 XAXIHHSOIA 1,500,000 2,000,000 500,000
01 AXISHNEAEERZ 1,500,000 2,000,000 500,000
WE22E =Xl 2SS0l AR 1,500,000
OIAHHI KR AL 44,980 48,360 N3,380
301 LEtEAZ 44,980 0 44,980
01 AIBIE & X251 2(2DEXTE) 44,980 0 44,980
CIOIAHHI K& AFY 44,980
FHEEE=X 200,000 0 200,000
207 A IHEH] 200,000 200,000
01 32| 200,000 200,000
OZA4SEFHESHEHES 200,000
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HEEA=
FOIHEORF N MY P (S EXLKSINEL /A
SEMUXNHAYFH (SH9 H2)
2 RA - BB O9(E0) - HRAY - BAS of v G o HIDE2
01 At2t2ltl 10,000 0 10,000
OIS u = 10,000
ORolgENH NS S| 10,000
308 XM SOIE 180,000 180,000
01 HAHHBLEXRS 180,000 180,000
O EX OIS S H AL 180,000
ANE2R|(EX) 745,000 89,400 655,600
202 04| 4,000 0 4,000
01 SLHoIH 4,000 0 4,000
OXI A 2te| =& 0| 4,000
308 AXIMSOIA 741,000 89,400 651,600
01 XN BSELES 741,000 89,400 651,600
OXI & 2e| 741,000
UNESPN EYNIN = 9,150 8,000 1,150
201 fer= 3| 9,150 8,000 1,150
01 AtR2tc|HI 9,180 8,000 1,180
QeS| 6,000
O=dUsssRAUS 3,500
OXNAEMEANEEESHNHS 2,500
O=g=¢ 3,150
OZY=SEXNEHHEAMRRE2HE 3,150
KIETHZEAASE (2 X) 4,067,945 3,917,023 150,922
201 =3 10,000 10,000 0
01 At22t2l] 10,000 10,000 0
ER=last=ull 10,000
OXNHEMEAISES S HIE 10,000
308 AXIHSOIA 4,067,945 3,907,023 150,922
01 XN BSELES 4,057,945 3,907,023 150,922
CIXIE T AFAS 4,067,945
HHIUHE2BHAHE 3,308,452 2,890,114 409,338
SUEBAAH2H 736,808 331,308 405,500
201 fer=3| 136,808 131,308 5,500
01 AtR2tc|Hl 11,500 6,000 5,500
L et=+Sy| 3,500
O+ 2 S 3,500
eg=<g 8,000
ONetE I A= S 8,000
02 S3=gHl 125,308 125,308 0
A2 EHI=XH 125,308
OSUEEAIAE SR E+H] 125,308
207 ARl 600,000 200,000 400,000
02 MAHHZHI 600,000 0 600,000
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g2 8 A A

HT A=
YT AR (FEDT )
SE X EH =N (SH9 H2)
SA - ZE . B9(0) - ARAY - BAS of v G o HIDE2
331,797,020 165,398,356 166,398,664
SR 2 (RERL RS 123,541,550 131,724,550 8,183,000
Aot ddI=a 119,705,550 128,096,550 /8,351,000
ETHOH O AL (2 F) (A 81,498,000 92,867,000 11,369,000
401 AIZHIZ S THE 79,498,000 78,277,000 1,221,000
01 A28l 73,105,000 70,671,000 2,434,000
CIGH THAH Ol 2 AL (222 73,105,000
02 2l 6,300,000 7,500,000 A1,200,000
CIGHE XHOH Ofl 2 AL 6,300,000
03 Al 20HHI 93,000 106,000 213,000
15 THoH Ol 2 At 93,000
403 AXIEHMSAH=01d 2,000,000 14,590,000 A12,590,000
02 SIS0t etA=2H 2,000,000 14,590,000 12,590,000
CIGHS THOH Ol 2 ALY 2,000,000
GHETHOH I AL (KIR) (B & 34,129,000 31,111,000 3,018,000
403 AXIEHHSAH=201H 34,129,000 31,111,000 3,018,000
01 AR A =2 £ 34,129,000 31,111,000 3,018,000
(15 THoH Ol 2 At 34,129,000
Sl A= 4,078,550 4,078,550
201 er23 | 63,430 63,430
01 Al22t2lH] 63,430 63,430
WETETER=T 33,430
LY EEEETEWE LIPS
S 33,430
Usg+g 30,000
OSgSHA = 30,000
203 HR=H| 4,320 4,320
03 A= L2 FAIH| 4,320 4,320
Lot A8 g e=d 4,320
401 AIEHIX R0 4,010,800 4,010,800
01 AlZ2H| 4,000,000 4,000,000
Lot&|2H &8 4,000,000
03 Al 20HHI 10,800 10,800 0
ot a g & 10,800
AL 3,799,000 3,631,000 168,000
SatdgAL 1,890,000 3,631,000 A1,741,000
403 X SHHMSAH=01H 1,890,000 3,631,000 21,741,000
01 AXISHHA =2 & 1,890,000 3,631,000 1,741,000
WE=Kol= Faks! 1,890,000
INR= Fabs 1,909,000 1,909,000
403 MR EHSAHE01H 1,909,000 1,909,000
01 MXIHHA 22X 1,909,000 1,909,000




HEEA=
SHEY AR (RER XL/ =XHH)
edd (Er2 &)
SA - ZE . B9(0) - ARAY - BAS of v G o HIDE2
et Ad 1,909,000
KIGta=2te] 37,000 37,000 0
Aot=Se2clANAE2S 37,000 37,000 0
308 AXIHS0IA 37,000 37,000 0
18 SIS0t HAS A 37,000 37,000 0
UXot=Se2cIANAE2S 37,000
SHEAMESLUHEE (FEX X AN /=XH) 130,000 120,000 10,000
SIEAHSER 130,000 120,000 10,000
SIEAIESEE L3 130,000 120,000 10,000
308 XXM SOIA 130,000 50,000 80,000
01 XN B2 LS 30,000 50,000 220,000
LssSZF0&eX 30,000
183 S| 2SI ZB&HAEAIE 100,000 0 100,000
Lot 2HE =80 UEM2S] 40,000
Lot& A EE 60,000
SR NESZ(IELXAMNL/=XH) 201,066,956 28,455,726 172,611,230
St &BI=d 201,066,956 28,455,726 172,611,230
S HHIAIE A 6,133,500 6,139,500 26,000
201 er2 3| 33,500 33,500 0
01 AtR2te|HI 33,500 33,500 0
eS| 33,500
OJI M FHINS AN FTROULADEH
= 33,500
401 AlZHIZ S0 2,000,000 2,006,000 26,000
01 Al&H| 2,000,000 2,006,000 26,000
OXgsta2 a8l 2,000,000
403 MR HHMSAHE01H 4,100,000 4,100,000
01 MHXIHH A 222 4,100,000 4,100,000
SRS HAA 2,000,000
OX Yot -2 B L E A 300,000
Lol MZSBIAL 300,000
Lot 2 At 1,500,000
=Itotd F X 2=At 7,971,587 8,555,000 N\583,413
403 MR HHMSAHE01H 7,971,587 8,555,000 /583,413
01 MXIHHA =222 7,971,587 8,555,000 A583,413
U=t = A 24=At 7,971,587
SRRl (F=RI=3) 800,000 265,000 535,000
403 AXIEHHSAH=201H 800,000 265,000 535,000
01 XIS A =2 800,000 265,000 535,000
ScSAeIZE MY E XIS A 100,000
Oatal 2| SHENS =2 Z S 20,000
O&d g & (XLeHE ) ML EHIS A 100,000




A= AEZA= SA G
I SHFANE+F(FELX SN/ +IHH)
el S EHIFA (SH9 H2)
o 5 N - MEE =
424 - ZH - O9i(E) - MRAY - BES ofl & e HDS2
s EHISA 100,000
OISHEALE2CI AFE O EHI S AL 30,000
Halgxiare| Al @ E8IS At 250,000
ColeteHe| KA IS A 125,000
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HRALAIH A 35,558,747 51,195,980 A 15,637,233
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DX =S X 22| Ar =8| 4,320
206 M=l 50,000 40,000 10,000
01 M=l 50,000 40,000 10,000
OME g =Hstzs ] 50,000
305 HHa =SS 14,000 14,000
01 Hia=s 14,000 14,000
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405 RHaks S| 130,000 50,000 80,000
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Ozssxtg7 (1) 60,000
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201 2Bt ] 9,500 7,600 1,900
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401 AIEHIL 20| 300,000 300,000
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01 Al&ZHI 3,200,000 3,458,000 258,000
OSZAKSUASB RS EHAIS (ASSY) 3,200,000
SSE T 200,000 200,000
401 AIEHIZL 20| 200,000 200,000
01 AlZHI 200,000 200,000
OEsSAE 200,000
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AR AMT AR SN ERALAL
A NLoEHSUFI AL (NSHER/E2)
(S A E=: PR ges (SH9 H2)
4224 - B G9(EH) - AIRAY - BES of v G o HIDE2
g et+=ZH| 11,500
OS2 HNRUS 3,000
ORLEJIH=EADIEHS 2,500
SEAEI| LS A 3,500
OKSHAFEUL=ATRLHIS 1,000
OHII=xclHlS 1,500
Qo= 1,000
OAlgdXRE =Y 1,000
02 S3=gHl 25,000 20,000 5,000
UAIZEHI= A 25,000
OSEAMEIIRX2AL/H(LSHEAIZEINS
AEZHIEY) 25,000
207 ARl 12,000 10,000 2,000
03 Al -2HI 12,000 10,000 2,000
DA EII K I |2 12,000
OllAdelts 3,000
OEZEA 2,000
(ONF=E=y) 2,000
OsLEANS 3,000
OAEAZHANES 2,000
405 AtatE = 50,000 95,000 /45,000
01 TR ESF SHI 50,000 95,000 /45,000
COtAZEHAAII(1H) 50,000
E=YNESONEEL) 149,767 105,590 44,177
NF=E=taNFEL=) 149,767 105,590 44,177
101 @124H| 11,967 11,590 377
M ORINZZENSES 11,967 11,590 377
IE=YASSONIE =X 11,967
ooy 78,8803 * 1 »100& 7,888
o5+ 78,8803 1€ 202 1,578
Oext=g 78,8802 x1H 4 316
OsAlH| 6,0002 18100 600
OulSH| 3,0003 18 %1002 300
@ZN L==h=: 1,285
201 et 3| 103,000 59,200 43,800
01 AtR2tc|Hl 15,000 12,600 2,400
g et+=ZH| 15,000
Oaxgiotm e |t s==2 5,000
OoRolFetd 2| += 8,000
ONHAZZSAUSIIESE 2,000
02 S3=gHl 88,000 46,600 41,400
LA EHI=XIH 88,000




AR ALTAIR
Hu: IYCHEURN B (RELSFH/E2)
ool HALSXIZL

A2 24 - 3H - () - HRAY - BES Oi &K OE:IEF% Hus2t
OEAM&2IS 70,000
Oa Yot F 2 AH| 13,000
O AMES 2,000
(@FSk=) ENPEAS 1,500
(@)SEE~E<E 1,500
204 MNP AH| 31,800 31,800
2 EFHRZHI 31,800 31,800
[ICHRI &= | 31,800
401 AlEHIZLS0HYI 3,000 3,000
01 Al&HI 3,000 3,000
CIAIE &HI S Al 3,000
O ACHH R HEAH| 3,000
HESAPH| (SR HEAIZE ) (JIEHDIIE) 4,994,773 5,401,501 N406,728
oI 2Z| 4,546,617 4,407,357 139,260
ol 23 | 4,546,617 4,407,357 139,260
101 124d| 4,499,577 4,360,317 139,260
01 2 3,859,679 3,665,277 194,402
o=3 2,799,468
OHEH 516,770
-4= 98,610,000 =1 98,610
5= 83,632,000 *5H 418,160
OsSHl 2,075,921
6= (225 8)
4,128,700 x18H x 1204 & 891,800
-72(2052)
3,631, 7002 x 14124 & 610,126
-8=2(1322)
2,813,700 x 171204 & 573,995
OFz2sY 206,777
-E22Y
2,001,799,000& x1/12%50%*23] 166,817
st =) o\ =1 39,960
25304t 130,000 x 11 =124 & 17,160
- 20480/ 4250 B¢
110,000& x2Z = 1201 & 2,640
- 1530[ 420 0] 2t
80,000& =12 * 1201 & 11,520
- 1090/ AHB5ED| B
60,000 x7H 1204 & 5,040
- bEO0|AH0E OISt
50,0002 x6Z * 1201 & 3,600
=g 566,312
(OF {0 R 26,308
-RIFAY 26,308
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4202
83,632,000 *1/12+78%x*4. 1%+4H » 128 10,699
58U 4,128,700 4. 138« 123 6,094
628U 3,631,700 4. 1%+32* 123 5,361
RCIEEs 2,813,700& 4. 1%+32* 123 4,154
OIH2d =g 83,760
-Eag 47,760
=N 40,0002 *50 * 12 24,000
- RS (R AHA)
30,0003 x20E 120 2 7,200
RS (SMAA)
70,0002+ * 12043 6,720
- S (ST AHA)
110,000 x2& 12042 2,640
IS 30,0002 =20+ 12042 7,200
—S0IER LY
1,000, 0002 *3* 1200 & 36,000
OS=27+4 41,520
Sgnney 10,800
=25 50,0003 18120 10,800
—SAUeAg (IS ELY) 30,720
525014t 50,0002 3 * 12043 1,800
16,72 30,0002 32+ 1204 & 11,520
- 82016t 20,0003 x14H 120 3 3,360
JHEZ(OIAL I8 E)
30,000 25« 1242 9,000
IS (AFIDIA
20,0002 x152* 12043 3,600
HAS(286~73)
10,0003 x3&* 12912 360
It 2 (288~98)
20,0002 =28 = 1204 & 480
HAAR(3H014)
50,0002 x 1 * 12043 600
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SRR
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30,0008 224« 12K 2 720
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70,0002 2% 1274 2 1,680
OIS (AT RHA)
11,0002 124 %1242 1,332
OJIEHE 20,0008 +724* 121 2 1,680
mimEE S 60,0008 82+ 12K 2 5,760
mESEUERAL] 140, 00021 <82 * 120 F 13,440
O=g (22l 1,000 x5 *20 122 1,200
OYEEH| 52,741
O1=z 222,185, 000211/ 12+60%+23] 22,219
02zl 2 305,216, 00041/ 12+60%+23] 30,522
Ooimge2esy 2r.780
02z 2 23, 15021 %20 A1 252 120K 2 27,780
cRSERISE S 47,040 47,040
oM ZRE(DI|HL)22 X FHERES S 47,040 47,040
D32z Re3 18,000
OZ2=20AYE3 18,000
mE=EESnECE L= 11,040
22| 448,156 994, 144 545,988
=3 448,156 904, 144 545,988
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